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B E X i & PR | it B H Ht  |[fiEr BT ABTE| EE FEAat | diis |wmn- k| 3 H T &
5 W (EW) 1,394 1,265 1,067 971 477 2, 391 979 17 2,239 914 1, 261 1, 439 2,618 — 17,186
&Eh) 1,394 1,278 1,067 971 477 2, 391 979 171 2, 239 914 1, 261 1, 439 2,618 — 17,199
(FEIN) Be2s Y H B 22304 482 372 295 313 170 789 447 61 922 414 344 396 884 — 5, 889
(EW) Be2s Y H AR ZEH S 0 0 0 0 0 0 0 0 0 0 0 0 0 — 0
(EIW) #1 H e — — — — — - - - - - - - - 3,341 3,341
(EW) #1 B B 2= 4K = = = = = = = = = = = = = 0 0
(EN) RIEE R 0 2 3 9 1 2 0 0 4 2 3 4 2 — 32
(EP) &t 482 374 298 322 171 791 447 61 926 416 341 400 886 3,341 9,268
(FEA) 2 H e EEaE 4K — 0 — — — — — — — — — — — — 0
(ES) B2 H R EEH 4R = 0 = = = = = = = = = = = = 0
(FE46) H A aife EE 4k — — — — — — — — — — - - - 0 0
(FE46) 8 B R e 2238 4% = = = = = = = = = = = = = 0 0
(FESN) RIEE B EE R - 0 - - - - - - - - - - - - 0
LESL B (SRS P 4 TG0 3 ) 25 — 1 — — — — — — — — — — — — 1
(ESN) B 0 1 0 0 0 0 0 0 0 0 0 0 0 0 1
BEE 482 375 298 322 171 791 447 61 926 416 341 400 886 3,341 9,269
(EIWN) FTEMEF 2K 912 891 769 649 306 1, 600 532 110 1,313 498 914 1,039 1,732 — 7,918
=R (B +1E41) 34.58 29. 34 27.93 33.16 35.85 33.08 45. 66 35. 67 41.36 4551 27.52 27.80 33.84 — 53.89
HR (E) — 1.69 — — — — — — — — — — — — 7.69
@ o (E™) 1,353 1,191 1,123 951 489 2,421 1,121 228 2,235 984 1,220 1,353 2,470 — 17,139
H
() 1,353 1,206 1,123 951 489 2,421 1,121 228 2,235 984 1,220 1,353 2,470 — 17,154
(FEIN) ezt H B2 4K 465 331 249 247 151 747 460 73 912 394 332 358 791 — 5,510
(EW) Be2t Y B EEE S 0 0 0 0 0 0 0 0 0 0 0 0 0 — 0
(EIW) 81 B Bz 5 — — — — — — — — — — — — — 3,462 3,462
(EW) #1 B B 2= 4K = = = = = = = = = = = = = 0 0
(EWN) RIEEFEEE 3 1 4 6 2 1 2 1 3 3 2 2 2 — 32
(EP) 468 332 253 253 153 748 462 74 915 397 334 360 793 3,462 9,004
(FES) 32 B EEaE 4K — 0 — — — — — — — — — — — — 0
(FESN) B2 R EEE 4 = 0 = = = = = = = = = = = = 0
(FE40) # B a4 — — — — — — — — — — — — — 0 0
(FE4L) 8 B R e 224K = = = = = = = = = = = = = 0 0
(SN RIEE B EH R — 0 — — — — — — — — - - - — 0
LESL B (SRS P 4 G0 3 ) 0 — 0 — — — — — — — — — — — — 0
(ESN) B 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
&Ek 468 332 253 253 153 748 462 74 915 397 334 360 793 3,462 9,004
(EWN) FEreE 885 859 870 698 336 1,673 659 154 1,320 587 886 993 1,677 — 8,135
2R (EPN+1E4) 34.59 27.53 22.53 26. 60 31.29 30.90 41. 21 32.46 40. 94 40. 35 27.38 26. 61 32. 11 — 52.49
R (E5H) — 0.00 — — — — — — — — — — — — 0.00
i ; (EM) 2,747 2, 456 2,190 1,922 966 4,812 2,100 399 4,474 1,898 2, 481 2,792 5,088 — 34,325
H
HHEE S (TEA) - 28 - - — — — - - - - - — — 28
&Eh) 2,747 2,484 2,190 1,922 966 4,812 2,100 399 4,474 1,898 2,481 2,792 5,088 — 34,353
(EIN) Bzt H B2 4K 947 703 544 560 321 1,536 907 134 1,834 808 676 754 1,675 — 11, 399
(EIW) Be 2t B 22 E 5 0 0 0 0 0 0 0 0 0 0 0 0 0 — 0
(EIW) #1 B miBeZEas — — — — — — — — — — — — — 6, 809 6, 809
(EW) #1 B B 223844 = = = = = = = = = = = = = 0 0
P RIEFE R EEH 3 3 1 15 3 3 2 1 1 5 5 6 4 — 64
| (EIN) B 950 706 551 575 324 1,539 909 135 1, 841 813 681 760 1,679 6,809 18,272
(FESN) 32 0 P EEaE 4K — 0 — — — — — — — — — — — — 0
(FESN) B2 B R %L = 0 = = = = = = = = = = = = 0
(FE40) 3 B A 2 E 4R — — — — — — — — — — — — — 0 0
(FE4L) 3 B R e 22345 = = = = = = = = = = = = = 0 0
(FESN) RIEE R EER — 0 — — — — — — — — - - - — 0
TESMETE (ARE BT 4+ BRE RS S — 1 — — — — — — — — — — — — 1
((ESD) B 0 1 0 0 0 0 0 0 0 0 0 0 0 0 1
waE 950 707 551 575 324 1,539 909 135 1, 841 813 681 760 1,679 6,809 18,273
(EWN) FTEreE 1,797 1,750 1,639 1,347 642 3,273 1,191 264 2,633 1,085 1, 800 2,032 3,409 — 16, 053
2R (EWN+TE4) 34.58 28.46 25.16 29.92 33.54 31.98 43.29 33.83 41.15 42.83 27.45 27.22 33.00 — 53.19
2R (E5H) — 3.517 — — — — — — — — — — — — 3.57




